
 
 

  

QUALITY ALUMINUM BOAT LIFTS, INC. 

COMPONENT LIST 

JET SKI-SKIFF LIFT 

  

 
 

 
 

QUALITY ALUMINUM BOAT LIFTS, INC. 
29451 HWY  98 BLG4  ELBERTA, ALABAMA 36530 

PHONE:251-986-3882: FAX:251-986-3136 
Qualityboatlift@gmail.com 

QABJETSKISIFF.2014© 
 

mailto:qualityboatlift@gmail.com


P a g e  | 1 

 

                                 QUALITY ALUMINUM BOAT LIFTS, INC. 
                        29451 HWY  98 BLG4  ELBERTA, ALABAMA 36530 
                            PHONE:251-986-3882:FAX:251-986-3136 
                               Qualityboatlift@gmail.com 

QABLJETSKISKIFFLIFT.2014© 

 

Quality Aluminum Boat Lifts, INC. 

Component List:  Jet-Ski Skiff Lift 

Thank you for your recent purchase of your Boat Lift, before Installation of your lift we encourage 

you to read all instructions entirely.  Failure to do so could result in serious injury or death. We 

are happy to assist you with any Technical questions that you may have, please feel free to 

contact via email at the email address included.  

The following lift Components included for the Manual Jet-Ski Skiff Lift. NOTE: If additional 

options have been purchase, these options will not be included on the components list.  

MAJOR LIFT COMPONENTS:  

1200lb Electric Lift Components  

(1) TRACK - 3 x 4 I-BEAM 

(1) PILING or DOCK MOUNT 
(1) CRADLE ARM (WITH 3” PULLEY AND WHEELS) 
(1) MOTOR PLATE TO LIFT INCLUDES:  

(2) ¼ X 1 ¾ BOLTS, (2) ½” FLAT WASHERS, (2) ½” LOCK NUTS    
(1) 3/16” CABLE CLAMP 

(1) CABLE ¼ X 20’ CABLE WITH LOOPED END 
(4) BUNK BRACKETS INCLUDES:  

(4) 2 X 3 X ¼ ANGLES, (8) 3/8 X 6/12 BOLTS,  (4) ¼ X 2 FLATPLATE 4”  

(8) 3/8 LOCK WASHERS, (8) 3/8 NUTS  
(4) BUNK HARDWARE: INCLUDES  

(4) 3/8 X 2 ½” BOLTS, (4) 3/8 FLAT WASHER (4) 3/8 NUTS  
(2) CARPETED BUNK  

(2) WEIGHT PIPES  
(1) ZINC 
(1) ELECTRIC GEAR UNIT WITH PLASTIC COVER  

 
1500lb Electric Lift Components  

(1) TRACK - 3 x 4 I-BEAM 

(1) PILING or DOCK MOUNT 
(1) TWIST BRACKET  

(1) CRADLE ARM (WITH 4” PULLEY AND WHEELS) 
(1) MOTOR PLATE TO LIFT INCLUDES:  

(2) 1/2 X 1 ¾ BOLTS, (2) ½” FLAT WASHERS, (2) ½” LOCK NUTS    

(1) 3/16” CABLE CLAMP 
(1) CABLE ¼ X 30’ CABLE WITH LOOPED END 

(1) ADJUSTABLE CABLE DEADMAN 
(4) BUNK BRACKETS INCLUDES:  

(4) 2 X 3 X ¼ ANGLES, (8) 3/8 X 3 1/2 BOLTS, (4) ¼ X 2 FLATPLATE 10”  

(8) 3/8 LOCK WASHERS, (8) 3/8 NUTS  
(4) BUNK HARDWARE: INCLUDES  

(8) 3/8 X 2 ½” BOLTS, (8) 3/8 FLAT WASHER (8) 3/8 NUTS  
(2) 6FT CARPETED BUNK  
(1) ZINC 

(1) ELECTRIC GEAR UNIT WITH PLASTIC COVER  



P a g e  | 2 

 

                                 QUALITY ALUMINUM BOAT LIFTS, INC. 
                        29451 HWY  98 BLG4  ELBERTA, ALABAMA 36530 
                            PHONE:251-986-3882:FAX:251-986-3136 
                               Qualityboatlift@gmail.com 

QABLJETSKISKIFFLIFT.2014© 

 

2000lb Electric Lift Components  

(1) TRACK - 8 x 5 I-BEAM 
(1) PILING or DOCK MOUNT 
(1) TWIST BRACKET  

(1) CRADLE ARM (WITH 4” PULLEY AND WHEELS) 
(1) MOTOR PLATE TO LIFT INCLUDES:  

(2) 1/2 X 1 ¾ BOLTS, (2) ½” FLAT WASHERS, (2) ½” LOCK NUTS    
(1) 3/16” CABLE CLAMP 
(1) CABLE 5/16 X 30’ CABLE WITH LOOPED END 

(1) ADJUSTABLE CABLE DEADMAN WITH 2 X 2 X 3/8 SPACER 
(1) TOP UNIT WITH CABLE WINDER AND MOUNTING HARDWARE: INCLUDES 

 (3) ½” X 1 ¾” BOLTS, (3) ½” LOCK NUTS  
(4) BUNK BRACKETS INCLUDES:  

(4) 2 X 2 X ¼ ANGLES, (8) 3/8 X 4 BOLTS, (4) ¼ X 2 FLATPLATE 10”  

(8) 3/8 LOCK WASHERS, (8) 3/8 NUTS  
(4) BUNK HARDWARE: INCLUDES  

(8) 3/8 X 2 ½” BOLTS, (8) 3/8 FLAT WASHER (8) 3/8 NUTS  
(2) 6FT CARPETED BUNK  
(1) ZINC 

(1) ELECTRIC GEAR UNIT WITH PLASTIC COVER  

 

REQUIRED TOOLS: 

LEVEL 

HAMMER 

DRILL 

3/8" METAL BIT 

1/2" AUGER BIT TO DRILL PILINGS 

RAZOR KNIFE 

(2)  3/4” WRENCH 

(2) 9/16" WRENCH 

(1) 7/16” WRENCH 

(2) 1 1/8" WRENCH 

(1) #2 PHILLIPS HEAD SCREW DRIVER 

 

Any questions regarding the installation of your lift our technical experts are happy to assist       

you @ our email: qualityboatlift@gmail.com Attention: Technical Support. To quicken the process 

please add the pictures of the part or lift area you have questions about send to our staff also.  

Thank you,  

Quality Aluminum Boat Lifts, INC. 

 

   

mailto:qualityboatlift@gmail.com

